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‘_-__J_\ | 'l_
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EEE
TREAT, | A% ol | 4248 0.48 1.00 / 0.00 0.49
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J 2]
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Q
- N =
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]
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Modell-1 Model2-1 Model3-1 Modeld-1
0.0 0.1%" ~0.000 0.0
TREAT, 0.29) 0.07) 014 0.08)
.06 0.012 0,000 R
GDF 4 (0.00) 0.39) (0.00) (0.00)
01107 0.049 ~0.006 0650
Aln(ASEET, ) (0.00) 0.65) 0.25) (0.00)
R 0081 2,071 0.205° 0103
O (0.06) (0.00) (0,00 0,09
Firm FE. Y Y Y Y
=3 = 3351 3.407 3.407 3351

= * p<0.1, ** p<005, *** p<0.01
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= BETHEA0 B30 FE [l 3X| @2 AR = = UF (U: AZISH X0 = 016 < A|7IEH

7,=10 7,=1 t-statistic
Obs. . Obs. . .
cim  Mean M spev | dim  Mem  MX/ sipev dégefe?g)e
year) ’ year) ’
(D (2 (3) (@ (5) (6) (7 (8 ©
meap, ; 2628 | 12.97 2%%93 Fo1es | 31z | 1313 ‘180 {19’ 1.69 -3.16%%*
0.98 / i - 4.07 | o oy
ROA,, 293l | 001 | a0 | 028 | 3563 | 03l | T0. | 0l3 3.20
- 3.26 | - 362 /
An(ASsET.) | 2792 | 009 | Tog, | 029 | 336 | 009 | TS | 029 0.04
. ﬁ.oq - J.HO henke
debtratio,; | 2,931 | 0.53 ‘“6‘3’ 028 | 3563 | 052 ofoof 0.19 2.05%

* p<0.1, ** p<0.05, *** p<0.01



o (NZ7FEN) w2 (T; x P A7 %’“(— 060)= —’}‘—Xéﬂczig.td, ~value”}
10% % 7<o]_ %75”24 OAA—] o] }\—‘C—_’- =S Q—E J—?* %?:]1 KE 4
model 2 Z+11)

(BRI E) WXEO| A£=7F 24(-0.017)2 FHE|IUCH, 10% S2|F=F0f M
EAN SO|M0| = HOZE LIEIY KE 4> model 5 & 1)

K|Z=2|AF H2t O AZ|(S < 0)0[M WAfe T; x z; o A7 N =2 72
SFX| Qo HAMFM| 7tH0| MEStE AR & &+ A KH 4> model 3, model
6 &)



- = H =<
<E 4> O|BAEY 7 2}
FTEWS 0 Aln(meap;,) TEWS . ROA,;
model 1 | model 2 | model 3 model 4 | model 5 [ model 6
» 0,051 0,042 0,025+ ~0.008
&t (.10 (0.13) (00D (0.90)
0.054 0,060 -0.080%** 0.017*
i< Py (0.13) (0.10) (0.00 (0.06)
0,030 0.00
1% 2,y (0.44) (0.63)
0,034 0,012
TiXZ,-y (0.49) (0.36)
_ 0.058 0.019
Lix 24— 0.24) (0.14)
. 0.009 0,016
Ti% Z4s 084 (02D
. 0,035 0,018
TiXZy4 (047 (0.16)
_ 0,041 -0.005**
1% 243 027 (0.0D
- 0.072+* 0,070+ 0,003 0,003
GDF, (0.00) 0.00) 0.00) (0.02)
0.273%+* 0.273++ 0.096%** 0.096%*
Aln(ASSET, ) (0.00 (0,00 (0.00) (0.00)

. 0,052 0.053 0.641* 0,645+
debtratio, 0.29 023) 000 (0.00)
Const. Y Y Y Y Y Y
Group FE. Y Y Y Y Y Y
Year FE. Y N N Y N N

Obs. 5,760 5,537 5,537 6,494 6,168 6,168
# of Firm 325 324 324 325 34 34

Tl: I1x Z = 7IEHTE A2

F2 : B&+= pvalue

F3: * p<0L ** p<0.05, *** p<0.0l
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An(GDP,) = a + 3,EMPLOY, + 3,INFLATION +
B, A In(MCAP,)+ 3,REG, +e¢,

Aln(MCAP,) = o + 3, EMPLOY, + 3,INFLA TION+
Gs A In(GDP, )+ 3,REG,; +¢;

= H=: GDP H & E(AIn(GDPY))1t A|7HE N HEE(AIn(MCAP,) &
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45 =4 Z1f - 4

L
21
x
e

= o)
dME Y
¢ 1987~20224E HE E%(Model 1)0“*1 1A X|F=9| 2|{HAF7F SEFE F
X g

» Model 1 &8+ SAXHL2E RISHA| ERUA2LE, HEF ™ (Model3,
Model4, Model6)2| 2| A7t SEHHL 2 542 LIERS

<B7> BHEEE 29 =8 2n

Model 1 Model 2 Model 3 Model 4 Model 5 Model 6
(87-22) | (99-22) | (87-08) | (09-22+8) | (99-08%d) | (87-99D)

_ . 1144 164 2764 948 3751 22.77
EMPLOY, (0.3 0.88) 0.26) 0.25) ©0.32) (0.62)
- - 0.39 032 011 051 067 0.09
INFLATION, (0.18) 0.42) 0.83) 0.28) 0.23) 092)
. ‘ 054 173 008 4% -0.08 0.46
Aln (MCAP,) 074 047 0an 019 (0 96) 091
REC 040 054 115 040 304 0.7
‘ (0.58) 0.43) ©0.4D 0.43) 0.20 0.77)
A T a0 24 24 14 10 13
R 0.17 0.07 0.08 0.20 053 0.03
% p<0.1, * p<0.05, ** p<0.01



45 =4 24 - A/tEN B

- 2[RVt =238 58%17]7F Z£8 &l 1999~2008E A|7[(Model 5)
= NelotE 2= E%WIH THX =2 2| HA 7t S+= FHE

« Model31} Model6l| 2| HAT&= 5% 720 SAHEHCZE {9
sl ZHo 2 LIEfLE

<E 8> AIZHEY BE 3 A1}

Model 1 Model 2 Model 3 Model 4 Model 5 Model 6
87-22) | (99-221) | (87-08%) | (09-2213) | (99-08%) | (87-991)
0.02% 0.00 0.05%* 0.00 -0.01 0.07+*
Y. ,
EMPLOY, (0.09) (0.66) (0.02) 0.42) 0.82) (0.0D)
R - -0.02 0.06 -0.10* 0.08** 0.02 -0.16%*
N y N
[NFLATION, 03 | ©16 0 | ©w | ©s | ©o
) . 3 0.00 -0.03 -0.00 -0.03 -0.07 0.00
AlnlGDP,) (074 (020 (097) 019 047) (091)
REC -0.09 -0.02 -0.30%* -0.03 0.15 -0.37%*
T (0.26) 0.73) (0.03) 0.44) .77 (0.03)
=A T 30 73 77 T 10 13
. 0.08 0.16 0.23 0.40 0.13 0.48

R
F % p<O.L ™ p<0.05 ** p<00l
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